
© 2008 A. Abela — abela@cua.edu

Profi t level/
growth

inadequate

Business Problem-Solving Hiearchy

Return on
investment 
inadequate

Investment
level

inappropriate

Too high in
wrong areas

Too low in
right areas

Costs too
high

Sales/growth
too low

Market size
too small

Inadequate 
market share

High variable 
costsHigh fi xed costs

Category
adoption rate

too slow

Target segment
defi ned too
narrowly

Inappropriate 
overhead
allocation

Actual
cost
high

Low revenue/
customer

Low share of 
customers

Low price/
purchase

Slow
acquisition

Weak
retention

Low share
of customer
purchases


